

51. a) $a_n = \frac{(\arcsin \frac{1}{n} - \sin \frac{1}{n} - \frac{1}{3n^3}) \cdot (n+3)^{3/2} \sim \frac{1}{n^5} \cdot n^{3/2} = n^{-7/2}}{((\cos \frac{1}{n})^{\sin \frac{1}{n^2}} - (1 + \frac{1}{n^3})^{\frac{1}{n}}) \sqrt{n}}$ $\beta \in \mathbb{R}$

$\lim_{n \rightarrow \infty} a_n = ?$

$\sin x = x - \frac{x^3}{3!} + \frac{x^5}{5!} + \dots$

$x \rightarrow 0, \arcsin x = \arcsin 0 + x + 0 \cdot \frac{x^2}{2!} + \frac{x^3}{3!} + 0 \cdot \frac{x^4}{4!} + 9 \cdot \frac{x^5}{5!} + o(x^5)$

$(\arcsin x)' = \frac{1}{\sqrt{1-x^2}} = f'(x)$

$f''(x) = (1-x^2)^{-3/2} = -\frac{1}{2} \cdot (1-x^2)^{-3/2} \cdot (-2x) = x \cdot (1-x^2)^{-3/2}, f''(0) = 0$

$f'''(x) = (1-x^2)^{-3/2} + x \cdot (-\frac{3}{2}) \cdot (1-x^2)^{-5/2} \cdot (-2x) = (1-x^2)^{-3/2} + 3x^2(1-x^2)^{-5/2}, f'''(0) = 1$

$f^{(4)}(x) = 3x(1-x^2)^{-5/2} + 6x(1-x^2)^{-5/2} - \frac{15}{2} \cdot x^2(1-x^2)^{-7/2} \cdot (-2x) =$

$= 9x(1-x^2)^{-5/2} + 15x^3(1-x^2)^{-7/2}, f^{(4)}(0) = 0$

$f^{(5)}(x) = 9(1-x^2)^{-5/2} + 45x^2(1-x^2)^{-7/2} + 45x^2(1-x^2)^{-7/2} + 15x^2(-\dots)$
 $f^{(5)}(0) = 9$

$(n+3)^{3/2} = n^{3/2} (1 + \frac{3}{n})^{3/2} \sim n^{3/2}$

$(1+t)^a = 1 + \binom{a}{1}t + \binom{a}{2}t^2 + \dots$
 $t \rightarrow 0$

$(\cos \frac{1}{n})^{\sin \frac{1}{n^2}} = e^{\sin \frac{1}{n^2} \ln(\cos \frac{1}{n})}$
 $\sim \frac{1}{n^5} \cdot n^{3/2} \cdot n^{-1/2} \sim n^{-5+3/2-1/2} = n^{-4}$

$a_n = \frac{(\arcsin \frac{1}{n} - \sin \frac{1}{n} - \frac{1}{3n^3}) (n+3)^{3/2} \cdot \frac{1}{\sqrt{n}}}{((\cos \frac{1}{n})^{\sin \frac{1}{n^2}} - (1 + \frac{1}{n^3})^{\frac{1}{n}})}$

$\sin t = t + o(t^2), t \rightarrow 0$

$\sin \frac{1}{n^2} = \frac{1}{n^2} + o(\frac{1}{n^4})$

$\cos \frac{1}{n} = 1 - \frac{t^2}{2} + \frac{t^4}{4!} + o(t^5), t \rightarrow 0$

$\ln(\cos \frac{1}{n}) = \ln(1 - \frac{1}{2n^2} + \frac{1}{4!n^4} + o(\frac{1}{n^5})) = \ln(1+t) = t - \frac{t^2}{2} + o(t^2), t \rightarrow 0$
 $\sim \frac{1}{n^2}$

$= -\frac{1}{2n^2} + \frac{1}{4!n^4} + o(\frac{1}{n^6}) - \frac{1}{2} \left(-\frac{1}{2n^2} + \frac{1}{4!n^4} + o(\frac{1}{n^6}) \right)^2 + o(\frac{1}{n^4})$

$= -\frac{1}{2n^2} + \frac{1}{4!n^4} - \frac{1}{8n^4} + o(\frac{1}{n^4}) = -\frac{1}{2n^2} - \frac{1}{12n^4} + o(\frac{1}{n^4})$

$e^{\left(\frac{1}{n^2} + o(\frac{1}{n^4})\right) \left(-\frac{1}{2n^2} - \frac{1}{12n^4} + o(\frac{1}{n^4})\right)} = e^{-\frac{1}{2n^4} + o(\frac{1}{n^4})} = 1 - \frac{1}{2n^4} + o(\frac{1}{n^4})$
 $e^t = 1 + t + o(t), t \rightarrow 0$

$$\left(1 + \frac{1}{n^3}\right)^\beta = 1 + \binom{\beta}{1} \cdot \frac{1}{n^3} + \binom{\beta}{2} \frac{1}{n^6} + o\left(\frac{1}{n^4}\right)$$

$$a_n = \frac{\frac{1}{n^4} + o\left(\frac{1}{n^4}\right)}{1 - \frac{1}{2n^4} + o\left(\frac{1}{n^4}\right) - 1 - \beta \cdot \frac{1}{n^3} + o\left(\frac{1}{n^4}\right)} = \frac{\frac{1}{n^4} + o\left(\frac{1}{n^4}\right)}{-\frac{1}{2n^4} - \beta \frac{1}{n^3} + o\left(\frac{1}{n^4}\right)} = \begin{cases} \frac{o\left(\frac{1}{n^3}\right)}{-\beta \frac{1}{n^3} + o\left(\frac{1}{n^3}\right)} \cdot \frac{n^3}{n^3}, \beta \neq 0 \\ -2, \beta = 0 \end{cases}$$

$$= \begin{cases} \frac{o(1)}{-\beta + o(1)}, \beta \neq 0 \\ -2, \beta = 0 \end{cases} = \begin{cases} +\infty, \beta < 0 \\ -\infty, \beta > 0 \\ -2, \beta = 0 \end{cases}$$

$$\text{Pr. 2. a)} \quad f(x) = \begin{cases} \ln(1+3x^2), & x \leq -1 \\ ax^2 + bx + c, & -1 < x \leq 0 \\ \frac{\sin x}{\sqrt{x}}, & x > 0 \end{cases}$$

$\Rightarrow f$ γοδρο γεφ

f ηεωρ? $f(-1) = \ln(1+3 \cdot (-1)^2) = \ln 4$

$$\lim_{x \rightarrow -1^+} f(x) = \lim_{x \rightarrow -1^+} ax^2 + bx + c = +a - b + c = \ln 4$$

$$f(0) = c$$

$$\lim_{x \rightarrow 0^+} f(x) = \lim_{x \rightarrow 0^+} \frac{\sin x}{\sqrt{x}} = \lim_{x \rightarrow 0^+} \sqrt{x} \cdot \frac{\sin x}{x} = 0$$

$$c = 0, \quad a - b = \ln 4$$

$$f \text{ γυφ?} \quad f'(x) = \begin{cases} \frac{6x}{1+3x^2}, & x < -1 \\ 2x + b, & -1 < x < 0 \\ \sqrt{x} \cos x - \sin x \cdot \frac{1}{2\sqrt{x}}, & x > 0 \end{cases}$$

$\Rightarrow f$ je γυφ ηα $(-\infty, -1) \cup (-1, 0) \cup (0, +\infty)$

y $x = -1$;

$$f'_-(-1) = \lim_{h \rightarrow 0^-} \frac{f(x+h) - f(x)}{h} = \frac{bx}{1+3x^2} \Big|_{x=-1} = -\frac{b}{1+3} = -\frac{3}{2}$$

$$\begin{aligned} f'_+(-1) &= \lim_{h \rightarrow 0^+} \frac{f(-1+h) - f(-1)}{h} = \lim_{h \rightarrow 0^+} \frac{a(-1+h)^2 + b(-1+h) - bh}{h} = \\ &= \lim_{h \rightarrow 0^+} \frac{a(1^2 + h^2 - 2h) - b + bh - bh}{h} = \lim_{h \rightarrow 0^+} \frac{ah^2 - 2h \cdot a + h \cdot b}{h} = \\ &= \lim_{h \rightarrow 0^+} \frac{ah^2 - 2ah + bh}{h} = \lim_{h \rightarrow 0^+} (a - 2a + b) = b - 2a \end{aligned}$$

$$f \text{ graph } y = -1 \Rightarrow b - 2a = -\frac{3}{2}$$

$$a - b = bh$$

$$b = \left(-\frac{3}{2} - bh\right) \cdot \frac{1}{2} = -\frac{3}{4} - bh$$

$$a = \frac{bh}{2} - \frac{3}{4} - bh = \frac{bh}{2} - \frac{3}{4}$$

$x = 0$;

$$f'_-(0) = b$$

$$f'_+(0) = \lim_{h \rightarrow 0^+} \frac{f(h) - f(0)}{h} = \lim_{h \rightarrow 0^+} \frac{\frac{\sinh}{\sqrt{h}} - 0}{h} = \lim_{h \rightarrow 0^+} \left(\frac{\sinh}{h} \right) \left(\frac{1}{\sqrt{h}} \right) = +\infty$$

\downarrow \downarrow
1 $+\infty$

$\Rightarrow f$ has graph $y = 0$.